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The new star is what astronomers call a ‘white dwarf’. It's what stars like the Sun

become at the end of their lives when they've used up all their nuclear fuel.
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The star loses most of its atmosphere, leaving a very hot core. The heavier atoms
in the atmosphere sink and the lighter ones remain at the surface. Some white
dwarves have almost pure hydrogen or helium atmospheres, but this star has an
atmosphere unusually high in the heavier element, carbon.
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Computer modelling indicates it could have been created by the merger of two
such stars. This suggests that such occurrences might be more common than
previously thought.
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1. Where in the lifespan of a star is the white dwarf stage?

2. What type of atoms usually stay on the surface of a star?

3. How does this new star differ from other white dwarf stars?

4. True or false? Computer modelling has caused two stars to merge, forming a new

white dwarf star.
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1. Where in the lifespan of a star is the white dwarf stage?

A white dwarf star is what a star like the Sun becomes at the end of their lives
when they've used up all their nuclear fuel.

2. What type of atoms usually stay on the surface of a star?

The heavier atoms in the atmosphere sink and the lighter ones remain at the
surface.

3. How does this new star differ from other white dwarf stars?

This white dwarf star has an atmosphere unusually high in the heavier element,
carbon.

4. True or false? Computer modelling has caused two stars to merge, forming a new
white dwarf star.

False. Computer modelling indicates the new star could have been created by
the merger of two such stars.
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